

On the average order of the function $E(x) = \sum_{n \leq x} \phi(n) - \frac{3x^2}{\pi^2}$

D. SURYANARAYANA and R. SITARAMACHANDRA RAO

Andhra University, Waltair, India

1. Introduction

Let n denote a positive integral variable and x denote a real variable, usually ≥ 3 . Let $[x]$ denote the greatest integer $\leq x$ and $\{x\} = x - [x]$, called the fractional part of x . Let $\phi(n)$ denote the Euler totient function, which is defined to be the number of positive integers $\leq n$ and relatively prime to n . In 1874, F. Mertens [3] proved that

$$\sum_{n \leq x} \phi(n) = \frac{3x^2}{\pi^2} + O(x \log x), \quad (1.1)$$

a proof of which may be found in many books on number theory (cf. [2], Theorem 330). It can be easily shown that

$$\sum_{n \leq x} \phi(n)n = \frac{2x^3}{\pi^2} + O(x^2 \log x). \quad (1.2)$$

Let $\Phi(x)$, $\Phi'(x)$, $E(x)$ and $E'(x)$ be defined by

$$\Phi(x) = \sum_{n \leq x} \phi(n), \quad \Phi'(x) = \sum_{n \leq x} \phi(n)n, \quad (1.3)$$

$$E(x) = \sum_{n \leq x} \phi(n) - \frac{3x^2}{\pi^2} = \Phi(x) - \frac{3x^2}{\pi^2}, \quad (1.4)$$

and

$$E'(x) = \sum_{n \leq x} \phi(n)n - \frac{2x^3}{\pi^2} = \Phi'(x) - \frac{2x^3}{\pi^2}. \quad (1.5)$$

The best known O -estimate of $E(x)$ is due to Arnold Walfisz (cf. [11], Satz 1, p. 144), who proved that

$$E(x) = O(x \log^{2/3} x (\log \log x)^{4/3}). \quad (1.6)$$

In 1930, S. S. Pillai and S. D. Chowla [4] proved that

$$\sum_{n \leq x} E(n) = \frac{3x^2}{2\pi^2} + o(x^2) \quad (1.7)$$

and also that

$$E(x) \neq o(x \log \log \log x). \quad (1.8)$$

In 1931, M. L. N. Sarma [6] disproved the conjecture of J. J. Sylvester ([8], [9]), namely $E(n) > 0$, by showing that $E(820) < 0$.

In 1951, P. Erdős and H. N. Shapiro [1] proved that

$$E(x) = \Omega_{\pm}(x \log \log \log x). \quad (1.9)$$

In this paper we prove that

$$\int_1^x E(t) dt = O(x^2 \delta(x)) \quad (1.10)$$

and improve the result (1.7) to

$$\sum_{n \leq x} E(n) = \frac{3x^2}{2\pi^2} + O(x^2 \delta(x)), \quad (1.11)$$

where $\delta(x) = \exp(-A \log^{3/5} x (\log \log x)^{-1/5})$, A being a positive constant.

Further, we prove on the assumption of the Riemann hypothesis that

$$\int_1^x E(t) dt = O(x^{9/5} \omega(x)) \quad (1.12)$$

and

$$\sum_{n \leq x} E(n) = \frac{3x^2}{2\pi^2} + O(x^{9/5} \omega(x)), \quad (1.13)$$

where $\omega(x) = \exp(A \log x (\log \log x)^{-1})$, A being a positive constant.

2. Preliminaries

In this section we state some known results which are needed in our discussion. We need the following best known estimate concerning the Möbius function $\mu(n)$ obtained by Arnold Walfisz [11]:

LEMMA 2.1 (cf. [11]; Satz 3, p. 191).

$$M(x) = \sum_{n \leq x} \mu(n) = O(x\delta(x)), \quad (2.1)$$

where

$$\delta(x) = \exp(-A \log^{3/5} x (\log \log x)^{-1/5}), \quad (2.2)$$

A being a positive constant.

LEMMA 2.2 (cf. [7], Lemma 2.2, $s = 2$).

$$\sum_{n \leq x} \frac{\mu(n)}{n^2} = \frac{6}{\pi^2} + O\left(\frac{\delta(x)}{x}\right). \quad (2.3)$$

LEMMA 2.3 (cf. [10], Theorem 14–26 (A), p. 316). *If the Riemann hypothesis is true, then*

$$M(x) = \sum_{n \leq x} \mu(n) = O(x^{1/2}\omega(x)), \quad (2.4)$$

where

$$\omega(x) = \exp(A \log x (\log \log x)^{-1}), \quad (2.5)$$

A being a positive constant.

LEMMA 2.4 (cf. [7], Lemma 2.6, $s = 2$). *If the Riemann hypothesis is true, then*

$$\sum_{n \leq x} \frac{\mu(n)}{n^2} = \frac{6}{\pi^2} + O(x^{-3/2}\omega(x)). \quad (2.5)$$

LEMMA 2.5 (cf. [5], Lemma, p. 279, p. 765). *Let $f(n)$ be a function of a positive integral variable, and suppose*

$$\sum_{n \leq x} f(n) = g(x) + E(x), \quad (2.6)$$

where $g(x)$ is twice continuously differentiable, and $g''(x)$ is of constant sign, for $x \geq 1$. Then

$$\sum_{n \leq x} E(n) = \frac{1}{2}g(x) + (1 - \{x\})E(x) + \int_1^x E(t)dt + O(|g'(x)|) + O(1). \quad (2.7)$$

3. Proofs of (1.10) and (1.11)

It is well-known (cf. [2], (16.3.1) that $\phi(n) = \sum_{d\delta=n} \mu(d)\delta$. Hence

$$\sum_{n \leq x} \phi(n) = \sum_{d\delta \leq x} \mu(d)\delta, \quad (3.1)$$

where the summation on the right being taken over all ordered pairs (d, δ) such that $d\delta \leq x$.

Let $0 < \varrho = \varrho(x) < 1$, where the function $\varrho(x)$ will be suitably chosen later. If $d\delta \leq x$, then both $d > \varrho x$ and $\delta > \varrho^{-1}$ cannot simultaneously hold good. Hence from (3.1), we have

$$\begin{aligned} \sum_{n \leq x} \phi(n) &= \sum_{\substack{d \leq \varrho x \\ d\delta \leq x}} \mu(d)\delta + \sum_{\substack{\delta \leq \varrho^{-1} \\ d\delta \leq x}} \mu(d)\delta - \sum_{\substack{d \leq \varrho x \\ \delta \leq \varrho^{-1}}} \mu(d)\delta \\ &= S_1 + S_2 - S_3, \text{ say.} \end{aligned} \quad (3.2)$$

Now,

$$\begin{aligned} S_1 &= \sum_{\substack{d \leq \varrho x \\ d\delta \leq x}} \mu(d)\delta = \sum_{d \leq \varrho x} \mu(d) \sum_{\delta \leq \frac{x}{d}} \delta = \frac{1}{2} \sum_{d \leq \varrho x} \mu(d) \left(\left[\frac{x}{d} \right]^2 + \left[\frac{x}{d} \right] \right) = \\ &= \frac{1}{2} \sum_{d \leq \varrho x} \mu(d) \left(\left(\frac{x}{d} - \left\{ \frac{x}{d} \right\} \right)^2 + \left(\frac{x}{d} - \left\{ \frac{x}{d} \right\} \right) \right) = \\ &= \frac{x^2}{2} \sum_{d \leq \varrho x} \frac{\mu(d)}{d^2} - x \sum_{d \leq \varrho x} \frac{\mu(d)}{d} \left\{ \frac{x}{d} \right\} + \frac{1}{2} \sum_{d \leq \varrho x} \mu(d) \left\{ \frac{x}{d} \right\}^2 + \\ &\quad + \frac{x}{2} \sum_{d \leq \varrho x} \frac{\mu(d)}{d} - \frac{1}{2} \sum_{d \leq \varrho x} \mu(d) \left\{ \frac{x}{d} \right\}. \end{aligned}$$

Hence by (2.3),

$$\begin{aligned} S_1 &= \frac{x^2}{2} \left(\frac{6}{\pi^2} + o\left(\frac{\delta(\varrho x)}{\varrho x} \right) \right) - x \sum_{n \leq \varrho x} \frac{\mu(n)}{n} \left\{ \frac{x}{n} \right\} + O(\varrho x) + \frac{x}{2} \sum_{n \leq \varrho x} \frac{\mu(n)}{n} + O(\varrho x) \\ &= \frac{3x^2}{\pi^2} - x \sum_{n \leq \varrho x} \frac{\mu(n)}{n} \left\{ \frac{x}{n} \right\} + \frac{x}{2} \sum_{n \leq \varrho x} \frac{\mu(n)}{n} + O(\varrho x) + O(x\varrho^{-1}\delta(\varrho x)). \end{aligned} \quad (3.3)$$

We have

$$S_2 = \sum_{\substack{\delta \leq \varrho^{-1} \\ d\delta \leq x}} \mu(d)\delta = \sum_{n \leq \varrho^{-1}} n \sum_{\substack{d \leq \frac{x}{n} \\ d\delta \leq x}} \mu(d) = \sum_{n \leq \varrho^{-1}} nM\left(\frac{x}{n}\right) = O\left(\sum_{n \leq \varrho^{-1}} x\delta\left(\frac{x}{n}\right) \right),$$

by (2.1). Since $\delta(x)$ is monotonic decreasing and $x/n \geq \varrho x$, we have $\delta(x/n) \leq \delta(\varrho x)$. Hence

$$S_2 = O(x\delta(\varrho x) \sum_{n \leq \varrho^{-1}} 1) = O(x\varrho^{-1}\delta(\varrho x)). \quad (3.4)$$

Also, we have

$$\begin{aligned}
 S_3 &= \sum_{\substack{d \leq \varrho x \\ \delta \leq \varrho^{-1}}} \mu(d)\delta = \left(\sum_{\delta \leq \varrho^{-1}} \delta \right) \left(\sum_{d \leq \varrho x} \mu(d) \right) = \left(\sum_{\delta \leq \varrho^{-1}} \delta \right) M(\varrho x) = \\
 &= O(\varrho^{-2} \cdot \varrho x \delta(\varrho x)) = O(x\varrho^{-1}\delta(\varrho x)).
 \end{aligned} \tag{3.5}$$

Hence by (3.2) (3.3), (3.4) and (3.5), we get that

$$\sum_{n \leq x} \phi(n) = \frac{3x^2}{\pi^2} - x \sum_{n \leq \varrho x} \frac{\mu(n)}{n} \left\{ \frac{x}{n} \right\} + \frac{x}{2} \sum_{n \leq \varrho x} \frac{\mu(n)}{n} + O(\varrho x) + O(x\varrho^{-1}\delta(\varrho x)). \tag{3.6}$$

Following the same procedure as above, starting from

$$\sum_{n \leq x} \phi(n)n = \sum_{d\delta \leq x} \mu(d)d\delta^2 = \sum_{\substack{d \leq \varrho x \\ d\delta \leq x}} \mu(d)d\delta^2 + \sum_{\substack{\delta \leq \varrho^{-1} \\ d\delta \leq x}} \mu(d)d\delta^2 - \sum_{\substack{d \leq \varrho x \\ \delta \leq \varrho^{-1}}} \mu(d)d\delta^2,$$

we can show that

$$\sum_{n \leq x} \phi(n)n = \frac{2x^3}{\pi^2} - x^2 \sum_{n \leq \varrho x} \mu(n) \left\{ \frac{x}{n} \right\} + \frac{x^2}{2} \sum_{n \leq \varrho x} \frac{\mu(n)}{n} + O(\varrho x^2) + O(x^2\varrho^{-1}\delta(\varrho x)). \tag{3.7}$$

We get from (3.6), (3.7) and (1.3), that

$$\Phi'(x) - x\Phi(x) = -\frac{x^3}{\pi^2} + O(\varrho x^2) + O(x^2\varrho^{-1}\delta(\varrho x)). \tag{3.8}$$

Now, we choose

$$\varrho = \varrho(x) = \{\delta(x^{1/2})\}^{1/2}, \tag{3.9}$$

and write

$$f(x) = \log^{3/5}(x^{1/2})(\log \log(x^{1/2}))^{-1/5} = \left(\frac{1}{2}\right)^{3/5} u^{3/5} (v \log 2)^{-1/5}, \tag{3.10}$$

where $u = \log x$ and $v = \log \log x$.

$$\text{For } v \geq 2 \log 2, \text{ that is, } u \geq 4, x \geq e^4 > 54, \tag{3.11}$$

we have

$$v^{-1/5} \leq (v \log 2)^{-1/5} \leq \left(\frac{v}{2}\right)^{-1/5}$$

and therefore

$$\left(\frac{1}{2}\right)^{3/5} u^{3/5} v^{-1/5} \leq f(x) \leq \left(\frac{1}{2}\right)^{3/5} u^{3/5} \left(\frac{v}{2}\right)^{-1/5}. \tag{3.12}$$

We assume without loss of generality that in (2.2)

$$A < 1. \tag{3.13}$$

By (3.9), (2.2) and (3.10), we have

$$\varrho = \exp\left(-\frac{A}{2} f(x)\right). \tag{3.14}$$

By (3.11), we have

$$\frac{1}{2} \left(\frac{1}{2} \right)^{2/5} u^{3/5} v^{-1/5} \leq \frac{u}{2}.$$

Hence by (3.12), (3.13), (3.14) and the above,

$$\begin{aligned} \varrho &\geq \exp \left(- \frac{A}{2} \left(\frac{1}{2} \right)^{2/5} u^{3/5} v^{-1/5} \right) \geq \exp \left(- \frac{1}{2} \left(\frac{1}{2} \right)^{2/5} u^{3/5} v^{-1/5} \right) \geq \\ &\geq \exp \left(- \frac{u}{2} \right) = \exp \left(- \frac{\log x}{2} \right), \end{aligned}$$

so that $\varrho \geq x^{-1/2}$.

Hence $\varrho x \geq x^{1/2}$. Since $\delta(x)$ is monotonic decreasing, $\delta(\varrho x) \leq \delta(x^{1/2}) = \varrho^2$, by (3.9).

Hence the second O -term in (3.8) is also $O(\varrho x^2)$.

By (3.12) and (3.14), we have

$$\varrho = \exp \left(- \frac{A}{2} f(x) \right) \leq \exp \left(- \frac{A}{2} \left(\frac{1}{2} \right)^{3/5} u^{3/5} v^{-1/5} \right) = \exp \left(- B u^{3/5} v^{-1/5} \right), \quad (3.15)$$

where

$$B = A \left(\frac{1}{2} \right)^{3/5}.$$

Hence by (3.8) and (3.15),

$$\Phi'(x) - x\Phi(x) = - \frac{x^3}{\pi^2} + O(x^2 \exp(-B u^{3/5} v^{-1/5})) = - \frac{x^3}{\pi^2} + O(x^2 \delta(x)), \quad (3.16)$$

with the constant B in place of the constant A in $\delta(x)$. From (1.4), (1.5) and (3.16), we get that

$$\frac{2x^3}{\pi^2} + E'(x) - \frac{3x^3}{\pi^2} - xE(x) = - \frac{x^3}{\pi^2} + O(x^2 \delta(x)),$$

so that

$$E'(x) - xE(x) = O(x^2 \delta(x)). \quad (3.17)$$

By partial summation formula (cf. [2], Theorem 421), we have

$$\Phi'(x) = \sum_{n \leq x} \phi(n)n = \Phi(x)x - \int_1^x \Phi(t)dt,$$

so that

$$\begin{aligned} \frac{2x^3}{\pi^2} + E'(x) &= \left(\frac{3x^2}{\pi^2} + E(x) \right) x - \int_1^x \left(\frac{3t^2}{\pi^2} + E(t) \right) dt = \\ &= \frac{3x^3}{\pi^2} + xE(x) - \frac{x^3}{\pi^2} + O(1) - \int_1^x E(t) dt. \end{aligned}$$

Hence by (3.17), we get that

$$\int_1^x E(t) dt = - (E'(x) - xE(x)) = O(x^2\delta(x)). \quad (3.18)$$

Thus (1.10) is proved.

Now, to prove (1.11), we use Lemma 2.5. Taking $f(n) = \phi(n)$ in Lemma 2.5, we see by (1.1) that $g(x) = 3x^2/\pi^2$ and $E(x) = O(x \log x)$. Hence by Lemma 2.5, we get that

$$\sum_{n \leq x} E(n) = \frac{3x^2}{2\pi^2} + O(x \log x) + \int_1^x E(t) dt + O(x) + O(1) = \frac{3x^2}{2\pi^2} + O(x^2\delta(x)). \quad (3.19)$$

Thus (1.11) is proved.

4. Proofs of (1.12) and (1.13)

Following the same procedure as in the proof of (1.10) and making use of (2.4) and (2.6) instead of (2.1) and (2.3), we get the following in place of (3.8):

$$\Phi'(x) - x\Phi(x) = - \frac{x^3}{\pi^2} + O(\varrho x^2) + O(x^{3/2} \varrho^{-3/2} \omega(\varrho x)). \quad (4.1)$$

Now, choosing $\varrho = x^{-1/5}$, we see that

$$\varrho x^2 = x^{3/2} \varrho^{-3/2} = x^{9/5}.$$

Since $\omega(x)$ is monotonic increasing, we have $\omega(\varrho x) < \omega(x)$. Hence we get from (4.1) that

$$\Phi'(x) - x\Phi(x) = - \frac{x^3}{\pi^2} + O(x^{9/5} \omega(x)). \quad (4.2)$$

Now, proceeding as before in the proofs (1.10) and (1.11), we get the following, one after another:

$$E'(x) - xE(x) = O(x^{9/5}\omega(x)), \quad (4.3)$$

$$\int_1^x E(t)dt = O(x^{9/5}\omega(x)) \quad (4.4)$$

and

$$\sum_{n \leq x} E(n) = \frac{3x^2}{2\pi^2} + O(x^{9/5}\omega(x)). \quad (4.5)$$

Thus the proofs of (1.12) and (1.13) are complete.

References

1. ERDÖS, P. & SHAPIRO, H. N., On the changes of sign of a certain error function. *Canad. J. Math.*, 3 (1951), 375–385.
2. HARDY, G. H. & WRIGHT, E. M., *An introduction to the theory of numbers*. Fourth edition, Clarendon Press, 1965.
3. MERTENS, F., Ueber einige asymptotische Gesetze der Zahlentheorie. *J. Reine Angew. Math.*, 77 (1874), 289–338.
4. PILLAI, S. S. & CHOWLA, S. D., On the error terms in some asymptotic formulae in the theory of numbers (I). *J. London Math. Soc.*, 5 (1930), 95–101.
5. SEGAL, S. L., A note on the average order of number theoretic error terms. *Duke Math. J.*, 32 (1965), 279–284, 765.
6. SARMA, M. L. N., On the error term in a certain sum. *Proc. Indian Acad. Sci. Sect. A*, 3 (1931), 338.
7. SITARAMACHANDRA RAO & SURYANARAYANA, D., The number of pairs of integers with $L.C.M. \leq x$. *Arch. Math. (Basel)*, 21 (1970), 490–497.
8. SYLVESTER, J. J., Sur le nombre de fractions ordinaires inégales qu'on peut exprimer en se servant de chiffres qui n'excèdent pas un nombre donné. *Collected works*, Vol. IV, Cambridge 1912, p. 84.
9. SYLVESTER, J. J., On the number of fractions contained in any Farey series of which the limiting number is given, *Collected works* Vol. IV, Cambridge 1912, pp. 101–109.
10. TITCHMARSH, E. C., *The theory of the Riemann Zeta function*. Clarendon Press, Oxford, 1951.
11. WALFISZ, A., *Weylsche Exponentialsummen in der neueren Zahlentheorie*, Math. Forschungsber. 15. V.E.B. Deutscher Verlag der Wissenschaften, Berlin 1963.

Received July 10, 1971

D. Suryanarayana
R. Sitaramachandra Rao
Department of Mathematics,
Andhra University,
Waltair, India